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PE T B R

THISE2H

Jlinl

=(ZF!D3)



SHEERES FEEA BRI 13m LR THEDY)

% # B - kT B Y 8 B & # =
EEIEE 195, 114, 095
MiEIEE 54,093,992 + 45,555, 238 99, 649, 230
HBERFZE GDH 39,285,591 + 14,219,316 + 589, 085 54,093, 992
#BERHE (BLE) 39, 285, 591
HERERE (F) 203,133,095 x 7.00% (4.70% +1.50% 0. 8%) 14,219, 316
BERERER 203,133,095 x 0.29% 589, 085
RisEEE 249,208,087 x 18.28% (17.14% +1.00% +0. 14%) 45, 555, 238
TR 195,114,095 + 99, 649, 230 294,763, 325
—REBEEE 294,763,325 x 13.00% (13.00% x 1.00) 38,319,232
DHRITE 294,763,325 x 0.04% 117,905
TEAm4E 294,763,325 + 38,319,232 + 117,905 333, 200, 462
EEUEER 3, 644, 409
ERE 3,644,409 x 73.7% 2,685, 929
AIBELEE 3,644,409 + 2,685,929 6, 330, 338
E#RIE 221,950 + 6, 658 228, 608
EEAGE 221,950
EEEE 6, 658
Z Dt R i 221,950 x 53.85% ( 35% = (1 — 35%) ) 119, 520




BHERRER

FRVAER B R MMEE(—13m)RETEEDI)

BRI 228,608 + 119,520 348,128
—REEEE 348,128 x 53.85% ( 35% + (1 — 35%) ) 1817, 466
ABREE 348,128 + 187, 466 535, 504

A E XML 6,330,338 + 535, 594 6, 865, 932
BEHEE 333,200, 462 + 6,865, 932 340, 066, 394
HEGEMALE 340, 066,394 x 10.00% 34,006, 639
EEIEE 374,073,033




BHEERNRE FERE A b X B — 13m)E T E(Z D3)
£ [ & - BRTE B #H = i € # W OE
EEIEE 195, 114, 095
AR E& (-13m) 195, 114, 095
BRET 110, 583, 275
TS TRET 110, 583, 275
TS TR BERE ). BERE(2) FEKE-13m, ZEA 110, 583, 275
fe1:3
-1 5578% (1) FhEE LR, NE1OKRGE. KiFE15mEK i & KiE15m~ 80, 655. 00 1,085 87,510, 675
30mk i
m3
1-2 55 78% (2) FhEE LR, NE10KRGE. KiFE15mEK i & KiE15m~ 19, 500. 00 1,085 21,157, 500
30mk i
m3
1-3 5 7#%EMm EEthiEA) HER 1.00 1,915,100 1,915,100
=®
T8I 84,530, 820
TEMERT 84, 530, 820
1B M ERK 84, 530, 820
1-4 & &k 100, 155. 00 844 84,530, 820
m3
HEBERERE FEL) 39, 285, 591
HBRER 39, 285, 591
HEBRBRE 39, 285, 591
Efi - Z LME 4,277, 415
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% [ BiE - BTk Bifip B B T # m B

Z UM T3 JREMR 2,038, 310

1-5 ZULMiE 1.00 2,038,310 2,038,310
=]

Z LM TEf 2,239,105

1-6 2 L\iiE 2£35| = 2.00 813,035 1,626,070
=l

-7 ZWiE 1€5| = 1.00 613,035 613, 035
=]

EEBXMHILEERE 8,019, 000

JKEH &AL 8,019, 000

1-8 FAEMLEARE 22m x 22m 1.00 1,080, 000 1,080, 000
#

1-9 BEBLEREE 22m x 22m 1.00 890, 000 890, 000
&

1-10 FEPILERENE 1.00 6, 049, 000 6, 049, 000
=

B ] 26,832,016

REXEK TEERm 9,186, 894

1-11 28R RIREE 1.00 2,314,138 2,314,138
=

1-12 R2ERM BRIER (EFREVHF) 1.00 2,651,996 2,651,996
=

1-13 R2ERM BKERER 1.00 1,951, 621 1,951, 621
=

1-14 R2E R BKERER (EFRVHF) 1.00 2,269,139 2,269,139
=
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2 o 1K - AR B y B i & @

BE 17,645,122
1-15 %4 110. 00 4,058 446, 380

5
1-16 BKEE 77, 754. 00 220 17,105, 880

m2
1-17 SREEER 1.00 92, 862 92, 862

=
HiTEEE 53, 600
AT E R 53, 600
1-18 Rt EEE EIERAE 1.00 53, 600 53, 600

=
KE - BEZREH 103, 560
KERIEH 65, 379
1-19 KERBEE 55 TREMm 1.00 24, 471 24, 471

=
1-20 XKEREH TIEM 1.00 22,727 22,7217

Y
1-21 KEREH KM 1.00 18, 181 18, 181

Y
BEREH 38, 181
1-22 EEREH 1.00 38, 181 38, 181

Y
HiZAEE 3,873,017
A2 3,873,017




BHBEERNRE

FEAEREMXMFE(—13m)EEITE(ZTD3)

£ [} R - Bk B £ 1t £ %
KR E 3,873,017
KR E 3,802,017
2R 465, 833
2-1 BIEAE 1.00 302, 899 302, 899
E
2-2 WHIERR I 1.00 81, 467 81, 467
=®
2-3 WHIERR % THF 1.00 81, 467 81, 467
=®
KFA=E TILF E—LALE 3,336,184
2-4 BETX b+ I 1.00 579, 221 579, 221
=®
2-5 TILFE—LAIZR I 0.07 636, 147 44, 530
km2
2-6 BIBT—42 %8 1.00 499, 168 499, 168
=®
2-71 SR/ T— 2R 1.00 228, 608 228, 608
M
2-8 BETX b+ % T 1.00 579, 221 579, 221
=®
2-9 TILFE—LAF % THE 0.07 2,226,516 155, 856
km2
2-10 BIKT— 42 BiE 1.00 1,249,580 1,249,580
=®
EERE 71,000
R 71,000




BHHEERNRE SR A R L BR(— 13m)R M T E(Z D3)
£ F B - Bkt B 2 i & 4 m =
2-11 RBHER 1.00 71, 000 71, 000
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MEELR. NE10RGE. JKiER15mRK i & /KR 15m~ 30mK i

FEEREBXHE(—13m)BEIE(ENDI)

1H&Y (4017m3)

% [ R - BKTE By 2 B i % W= i &
55 JREREEER) (R/8y FRK) $fD 23.0m3
H 1.00 4,028, 233. 00 4,028,233/8.00H / 10H
Sl (5 TigEMm (R/\y FR)) $ffiD 2000PSE!
=] 1.00 309, 195. 00 309,1952.00H / 8H
A £HRD%
% 0.50 4,337, 428.00 21, 687
=) g YE%8EH : 4,017.00m 3 1,085. 00 4,359,115
&5 :1-2
B S TERE (2) B, NET10RE. KFE15mK 7 & KiZFE15m~ 30mkK i 1B4Y (4017m 3)
4 L R - KT By 2 B i %8 W = 5 &=
TS 08EREEMBER (R/X\y FRX) #D 23.0m3
=] 1.00 4,028, 233. 00 4,028,233/8.00H / 10H
I (U5 TREMR Ry FR)) $/D 2000PSHE!
H 1.00 309, 195. 00 309,1952.00H / 8H
R 2 EXNOY
% 0.50 4,337, 428.00 21, 687
& B YEX¥HEH : 4,017.00m 3 1,085. 00 4,359,115
&5 :1-3
B S 7REREEER) R 1B
% E A - BkTE B = B {f el = fi
55 JRER(EEER) (R/8y FRK) $/D 23.0m3
H 1.00 1,737, 900. 00 1,737,900 M4
Sl (5 TigEMm (R/\y FR)) $ffiD 2000PSE!
=] 1.00 177, 200. 00 177,200 #£ B
& H YEXREH : 1.00 1,915, 100. 00 1,915,100




Rffik -/ \v7r—o

FER A X AR (— 13m)R R T E(ZNDI)

25 :1-4
A LERERK 1BHHY (4017m 3)
4 L R - KT By 2 B i & %8 W = 5 &=
TE R i) $/1300m3%& (ZREA)
=] 5.00 330, 000. 00 1, 650, 000 10H
b1 $fiD 2000PSHE!
H 3.00 575, 787.00 1,727,361 8.00H / 10H
R 2 EXNOY
% 0.50 3,377,361.00 16, 886
& B YEXHEH : 4,017.00m 3 844.00 3,394, 247
= :1-5
B ZVVME HEED
% E A - kTE B = B {f & &R = i &
PE g =
= 1.00 366, 310. 00 366, 310
Ei=E 2]
= 1.00 1,672, 000. 00 1,672,000
& B YEZEREH : 1.00[H 2,038, 310. 00 2,038,310
=5 :1-6
& ZAVViE 2£35|F 1mEHY
% E A - BkTiE B = B {f & &R = i &
PE g =
= 1.00 222, 615.00 222,615
Ei=E 2]
= 1.00 590, 420. 00 590, 420
& B YEZEHREH : 1.00[H 813, 035. 00 813,035
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&5 . 1-7
2 AVME 1€35F 1EHY
2 L R - KT By = B i %8 5 &
BEE
= 1.00 222,615.00 222,615
£k
= 1.00 390, 420. 00 390, 420
& R YEZEEH - 1.00[=] 613, 035. 00 613,035
iS5 :1-8
2 FABIEREE 22mx 22m 1&E5HY
£ [ R - BKTE By = B i % i &
FABLERERE fE LD L— A (#<122 x 22miR)
H 1.00 1, 080, 000. 00 1, 080, 000
& &t YEZXEBESD : 1.00% 1,080, 000. 00 1,080, 000
HE5:1-9
& BABLEREE  22mx 22m 1H LY
2 L R - KT By = B i %8 5 &
EAEbh LR fE LD L—2iAd (#<122 x 22m#R)
H 1.00 890, 000. 00 890, 000
& it YEEREH : 1.00 890, 000. 00 890, 000
iS5 :1-10
& BABLERENSE 1B
% E A - BkTiE B = B {f &R i &
EAM L E R
= 1.00 1, 983, 400. 00 1, 983, 400
FAELEER
=® 1.00 4,065, 600. 00 4,065, 600
& it fEErEH : 1.00 6, 049, 000. 00 6, 049, 000
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HE5:1-11
B REESRR BER 1KLY
2 L R - KT By = B i %8 W = 5 &=
REERM FRP D 180PS%!
B 25.00 92, 105. 00 2,302,625/8.00H / 10H
A £HD%
% 0.50 2,302, 625. 00 11,513
= g YEEBEH : 1.00= 2,314,138.00 2,314,138
5 :1-12
2% REESRR ZER (EFRVHF) 1zt Yy
2 L R - KT By = B i %8 W = 5 &
REERM FRP D 260PS%!
=] 25.00 104, 935. 00 2,623,375/8.00H / 10H
EFRVHF 2 i E FRVHF £ 47
B 25.00 617.10 15,427
MR EXNOY
% 0.50 2,638, 802. 00 13,194
& B YEXREH : 1.00 2,651, 996. 00 2,651, 996
HE5:1-13
&% REESRMR BKEER X4y
2 Eu A - BkTiE By = B el = i &
TEERM FRP D 180PSZE!
B 24.00 80, 913. 00 1,941,912 6.00H / 8H
R 2 =X OV
% 0.50 1,941, 912.00 9,709
& B fEErEH : 1.00 1,951, 621. 00 1,951, 621
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ES . 1-14
2 REESRR BKEER (EFRRVHF) 1KLY
2 L R - KT By = B i %8 W = 5 &=
REERM FRP D 260PS%!
=] 24.00 93, 460. 00 2,243,040 6.00H / 8H
EFRVHF 2 i E FRVHF 47
B 24.00 617.10 14,810
R 2 EXNOY
% 0.50 2,257, 850. 00 11, 289
& B fEErEH : 1.00 2,269, 139. 00 2,269,139
= :1-15
BFR: ERAZ 1B4Y (35.7#m)
2 Eu A - kTE By = B el = i &
RBEHE 4 by 2L
B 1.00 2,977.00 2,977 2.00H / 8H
RN FRP D 70PSZ
=] 1.00 41, 260. 00 41, 260 8H
B2 AR
A 1.00 40, 000. 00 40, 000
Pl 10k
A 1.00 29,700. 00 29,700
BIEBF
A 1.00 29, 500. 00 29, 500
A £HRD%
% 1.00 143, 437. 00 1,434
= g YE3HBEH : 35. 704 = 4,058. 00 144, 871
HE:1-16
& BKEE 1BHY (821.1m2)
2 L R - KT By = B i %8 W = 5 &=
BT D 180PSE! 3~5t/A
B 1.00 156, 682. 00 156, 682 8H
HERER Ek=xX 208
=] 1.00 19, 305. 00 19, 305
R 2 EXNOY
% 3.00 175, 987. 00 5,219
& B YEXHEH : 821.10m 2 220. 00 181, 266
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B 1-11
B MEEER X4y
2 L R - KT By = il %8 5 &=
B2 FEHER
A 0.50 45, 400. 00 22,700
=510
A 1.00 40, 000. 00 40, 000
B = AT
A 1.00 29, 700. 00 29,700
MM £HRD%
% 0.50 92,400. 00 462
= g YEEBEH : 1.00= 92, 862. 00 92, 862
H5:1-18
2 HEHE HRIXRERE 1KLY
2 L R - KT By = il %8 5 &
MBIERBRE E-AYUIRE
IiE 2.00 26, 800. 00 53, 600
& it YEXREH : 1.00 53, 600. 00 53, 600
HE5:1-19
2 KERIEH J5TRER X4y
2 Eu A - BkTiE By = i el i &
KERKRF
= 1.00 24, 471.00 24,471
& &t YEEBEH : 1.00 24,471.00 24, 471
ES :1-20
2% . KEREH LTEM 1KLY
2 L R - KT By = il %8 5 &=
KERER
= 1.00 22,727.00 22,1721
& H YEEREH : 1.00 22,1727.00 22,721
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&5 1-21
2% . KEREH BRI IEEP,
2 L R - KT By = il %8 5 &
KERER
= 1.00 18, 181. 00 18,181
& it fEErEH : 1.00 18, 181.00 18, 181
BHBE5:1-22
2 EEREH XY
% E A - kTE B = il &R i &
SERBRE
= 1.00 38,181.00 38, 181
& it fEErEH : 1.00 38,181.00 38, 181
iS5 . 2-1
BFR B2 1X5Y
% L A - kTE B = il &R i &
B2 EEHE
A 2.00 45, 400. 00 90, 800
B = AR
A 3.00 40, 000. 00 120, 000
B E H A
A 3.00 29, 700. 00 89, 100
R 2 2&0Y%
% 1.00 299, 900. 00 2,999
& B YEXREH : 1.00 302, 899. 00 302, 899
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&5 :2-2
B EMIER EIR XY
2 L R - KT By = il %8 W = 5 &
BIEWHEE
A 2.00 23, 400. 00 46, 800
FSwy 2t7E
=] 1.50 22,574.00 33,861|4.70H / 8H
R 2 2&0Y%
% 1.00 80, 661. 00 806
& B fEErEH : 1.00 81, 467. 00 81, 467
EE5 23
B BEMIERR BT XY
% E A - kTE B = il &R = i &
BIEMHBEE
A 2.00 23, 400. 00 46, 800
cSvo 2t%&
=] 1.50 22,574.00 33,861/4.70H / 8H
MM £HRD%
% 1.00 80, 661. 00 806
= g YEEBEH : 1.00 81, 467.00 81, 467
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25 :2-4
B EETR L EIH IEER,
# 5 1RHE - PRk Bify # B ff # = fi#
XEE S4 AT A
5| 1.00 2,977.00 2,977.2.00H / 8H
I8 X E BT
A 1.00 45, 400. 00 45, 400
BB R
A 1.50 40, 000. 00 60, 000
M E R
A 1.50 29, 700. 00 44, 550
RAEBF
A 1.00 29, 500. 00 29, 500
BIE M FRP D 70PS%Y
H 1.00 41, 260. 00 41, 260 8H
GNSSIRIfz 2 & DGNSS
5| 1.00 18, 150. 00 18, 150
TILF E—LEENFEH 36~455kHz
H 1.00 331, 650. 00 331, 650
M 2Hh0%
% 1.00 573, 487. 00 5,734
a g 1EZRES - 1.00K 579, 221. 00 579, 221
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BEE .25
W RILFE—LAIR I 1B&Y (0.84km?2)
4 b R - KTk Bf 2 B %5 = 5 &
XBE S4 Ry 2L
B 1.00 2,977.00 2,977 2.00H / 8H
IS M FRP D 70PSE!
5] 1.00 41, 260. 00 41, 260 8H
BT EHEm
A 1.00 45, 400. 00 45, 400
BIEHED
A 1.00 40, 000. 00 40, 000
B2 B Em A
A 1.00 29, 700. 00 29, 700
BEBF
A 0.50 29, 500. 00 14, 750
GNSSEIMf & DGNSS
B 1.00 18, 150. 00 18, 150
TILF E—LEENFEH 36~455kHz
5] 1.00 331, 650. 00 331, 650
MR &Y
% 2.00 523, 887. 00 10, 477
A& i %85 :0.84km2 636, 147. 00 534, 364
&5 :2-6
& BIT—42RBE 1LY
4 b3 R - RTR B 2 B o) = 5 &
BT EHEm
A 3.10 45, 400. 00 140, 740
BIEHED
A 4.10 40, 000. 00 164, 000
B2 B Em A
A 5.90 29, 700. 00 175, 230
MM &Y
% 4.00 479, 970. 00 19,198
& i fEZREH 100 499, 168. 00 499, 168
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HE5:2-7
BFR SMITERET T — AR 1R Y
% E R - BRTiE B =1 B &R W = 5 &
FE AR (ERE)
A 1.00 55, 300. 00 55, 300
A (A)
A 1.50 48, 700. 00 73,050
HEm (B)
A 1.50 40, 600. 00 60, 900
HEm (C)
A 1.00 32, 700. 00 32,700
EHBARE FEEDY
% 3.00 221, 950. 00 6, 658
& & YEZEEH - 1. 00MEER 228, 608. 00 228, 608
E5:2-8
&% BETRAL BIR X8y
% E R - BRTiE B =1 B {f &R W = 5 &
RBE SA RV 2L
=] 1.00 2,977.00 2,977 2.00H / 8H
R=FEHE
A 1.00 45, 400. 00 45, 400
BIEHED
A 1.50 40, 000. 00 60, 000
B2 Eh 4
A 1.50 29, 700. 00 44,550
AEBhF
A 1.00 29, 500. 00 29,500
BEMm FRP D 70PSE!
=] 1.00 41, 260. 00 41, 260 8H
GNSSBI iz % 8 DGNSS
=] 1.00 18, 150. 00 18, 150
TILFE—LEEREE 36~ 455kHz
=] 1.00 331, 650. 00 331, 650
MM 2&0Y%
% 1.00 573, 487. 00 5,734
& F EZEEH - 1,00 579, 221. 00 579, 221
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HE5:2-9
B RILFE—LAIR BRI 1H4Y (0.24km2)
# 5 1RHE - PRk Bify # B ff # = " =
XEE Sq RN A
5| 1.00 2,977.00 2,977 2.00H / 8H
BIE M FRP D 70PS%Y
H 1.00 41, 260. 00 41, 260 8H
I E BB
A 1.00 45, 400. 00 45, 400
HE R
A 1.00 40, 000. 00 40, 000
s T
A 1.00 29, 700. 00 29,700
MEHTF
A 0.50 29, 500. 00 14,750
GNSSIRIfz 2 & DGNSS
5| 1.00 18, 150. 00 18, 150
TILF E—LEENFEH 36~455kHz
H 1.00 331, 650. 00 331, 650
M 2Hh0%
% 2.00 523, 887. 00 10,477
a g EZERESN :0.2dkm 2 2,226, 516. 00 534, 364
5 :2-10
B BRIET— 4 BE IEEL)
# 5 & - AR HE B 2 B # mE ]
I8 X BT
A 5.10 45, 400. 00 231, 540
BB R
A 14. 30 40, 000. 00 572,000
M E R
A 13. 40 29, 700. 00 397, 980
M 2Hh0%
% 4.00 1,201, 520. 00 48, 060
a g 1EZEES 1. 00 1,249, 580. 00 1, 249, 580
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&H#5:2-1
2 XBRER 1zt Yy
£ b g - BRKTE BAGL = B i £ fis
EBERERE
= 1.00 71, 000. 00 71,000
& H fEErEH : 1.00 71, 000. 00 71,000




